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A) Write the missing number using the associative property of addition.

1) + + = + +)6 4 5 (6 )(5 2)

3) + + = + +(8 )6 8 1)6(

6) + + = + +(5 )2 4 (2 )45) + + = + +(1 13) (3 )2

8) + + = + +(4 )8 6 4 )(87) + + = + +(3 33) (7 )3

B) If  (7  +  3)  +  2  =  12, then 7  +  (3  +  2)  =1) .

If  (6  +  1)  +  7  =  14, then 6  +  (1  +  7)  =2) .

C) Write the associative property of addition using the addends 4, 9, and 2.1)

Write the associative property of addition using the addends 6, 4, and 4.2)

+ = + ++( )5 5 10 (5 )5

+ + = + +(7 )9 2 7 2)(4)

Associative Property of Addition

S2


